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MECHANICAL DATA

Dimensions in mm (inches)

HIGH VOLTAGE, HIGH CURRENT

SILICON EXPITAXIAL PLANAR
NPN TRANSISTOR

8.89 (0.35)
7

o003  *

7.75 (0.305)

5.08 (0.200)
yp.

6.10 (0.240)
6.60 (0.260)

A

12.70
(0.500)
min

Pin 1 — Emitter

ABSOLUTE MAXIMUM RATINGS (Tease = 25°C unless otherwise stated)

] H
) 4 .

0.71(0.028)

H 086 (0.034)

0.89
(0035 H
7.75 (0.305)

" dia. H

TO-39 PACKAGE

Pin 2 — Base Pin 3 — Collector

APPLICATIONS

Intended for High Voltage, High Current,
Switching Applications up to 7A.

BUY47 BUY48
Veso Collector — Base Voltage (Ie=0) 150V 200V
Vceo Collector — Emitter Voltage (Ig=0) 120V 170V
VeBo Emitter — Base Voltage (Ic=0) 6V
Ic Collector Current A
lem Peak Collector Current (repetitive) 10A
Piot Total Power Dissipation @Tgmp < 25°C 1w
@Tcase < 50°C 10W
Tste Storage Temperature Range —65 10 +200°C
o Maximum Operating Junction Temperature 200°C



http://www.dzsc.com/stock_buy47.html
http://www.jdbpcb.com/J/
http://pdf.dzsc.com/
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SENVIE BUY48
ELECTRICAL CHARA CTERISTICS (Tease = 25°C unless otherwise stated)
Parameter Test Conditions Min.  Typ. Max. |Unit
Vg = 80V BUY47 10 HA
le=0 Tc =125°C 1 mA
IcBo Collector Cut-off Current
Vg = 100V BUY48 10 A
=0 Tc =125°C 1 mA
Ilc =1mA BUY47 150
Ver)ceo+ Collector — Base Breakdown Voltage B \
=0 BUY48 200
Vceo(sus)c Collector — Emitter Sustaining Voltage 'c = 20mA BUvar 120 \
lg=0 BUY48 170
Vego* Emitter — Base Voltage I = 1ImA Ic=0 6 \Y
Ic = 0.5A Ig = 50mA 0.05
Vcgatys  Collector — Emitter Saturation Voltage | Ic = 2A Ig =0.2A 0.45 \
Ic = 5A Ig = 0.5A 1
Ic = 0.5A Ig = 50mA 0.8
VBEsayr  Base — Emitter Saturation Voltage Ic=2A Ig =0.2A 11 \
Ic = 5A Ig = 0.5A 15
Ic =50mA Vcg =5V 130
_ Ic =0.5A Vcg =5V 40 150
NEes DC Current Gain —
lc = 2A Vee =5V 40 130
Ic =5A Vcg =5V 15 45
fr Transition Frequency Ic = 100mA Ve = 10V 90 MHz
Ccro Collector — Base Capacitance le=0 Ves =50V 45 80 pF
f=1MHz
ton Turn-On Time Ic =5A Ve = 40V 1
toff Fall Time g1 =—lgp = 0.5A 2 Hs
NOTES

* Pulse Test: t, = 300us, 6 = 1.5%




